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ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 9C.z2 — More Solving Systems of Equations by Elimination

#1-8, Solve each system of equations by the elimination method.

. {Sx 2y=3 L o _ ~5x +2y = -3 G-y =3

5x+y=-9——> 5% + Yy = -9

- Sx -2(-4)=3
3y =-1 Sx +¥ =3
y:=-9 Gx =-5
The solution x|
is (-1,-4). —
(4 +3y=-9——> Uy 4 3y "‘4 -
‘ {x+2y——1—‘-—‘9—-> “4x -fy = 4 # hay =
S xeq(1)= -1
7\’/:1 X+2= -1
- X—'——:——é “The. solution
llg ('%10.
{2x+y=—1
7x=5y+5 Aty = -
Reacrange terms. Q(O)\‘Y‘: -
;fo+\1--l—i->l0'x+5y~—5 y = -l
tx-8y=5 —> Fx -5y =5 i — The solvtion
|Fx =0 o
.0 is (0,-1).
x+ 5y =-13 =
{2x—5y=—19 x +5Y 13
3x = -32 .—32-*5\,'"13
'x='—3§~ 32 ¢+ 65y = -39
S ) l5y _— The, solu'l’l'or\
_ 32 -%
: 5 is (- "3, 1s>




6% -8y = =% —— Gx -y = =%

{"3‘X+QY = —2 5 -fx %y =

: {4x+3y 27 XL -l ~ 1y = - 108 x + 3y = 23
3x+4y=29 —2 5 Qn Ha'?v = 3% 4(3)+3y = 29
-F = =21 R+ 3y = 27
n = 3 3\/ :IS
=5
== The Solution
is (3,5).
C (2x+2y=-8B—2 50% + by =-24 ==
6 {Bx—3y=13 —2 5 px -6y = 36 e :
e =17 A2y =-
x =| S
= QY :~IO
y= -5 “The Solution
— is (1,-5).
 (2x—y=—6 _;i_aé«—gy'-‘-“l%
! {2x+3y=14——> Ax +3y = |4 2?’:()+ 3; ]
Al-7z) +3y = 14
gx = -4 A
-y R A
%=
= 3y =15
= ”’,17 Y-===<:5 "W\e So((u+'on
1S (-?: S)
{;:t;;y_zg‘* Solve for y+ =B ¢y = 4
Rmrmnﬁe ferms. v ?Hq(
Y:—‘{-X"’
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AU poinks on the line

O=0 = %’Xkl are Solvhons

4o the system.






